Equity in Athletics Disclosure Act Completion Certificate

The Equity in Athletics Disclosure Act (EADA) data for Bridgew after State University

Stiff State University

Were completed and locked on October 14, 2024.

Thank you for your participation in the 2024 data collection.

This certificate was prepared on October 14, 2024

2		

2024 EADA Survey

Institution: (165024) User ID: E1650241

Screening Questions

Please answer these questions carefully as your responses will determine which subsequent data entry screens are appropriate for your institution.

1. How	will y	you re	eport Oper	ating	(Game-day) Expenses?
•) Е	Зу Теа	am	0	Per Participant
2. Sele	ct the	e type	e of varsity	spor	ts teams at your institution.
	i n	Men's	Teams		
V	i v	Nome	n's Teams		
] (Coed 1	Teams		
3. Do a	ny of	your	teams hav	e ass	sistant coaches?
•) γ	⁄es			
	Ē	8	Men's Team	s	
	2	2	Women's Te	ams	
			Coed Teams	3	
C) 1	No			

If you save the data on this screen, then return to the screen to make changes, note the following:

Sports Selection - Men's and Women's Teams

Select the varsity sports teams at your institution.

Men's	Women's

¹⁾ If you select an additional type of team remember to include associated data for that type of team on subsequent screens;

²⁾ If you delete a type of team but have already entered associated data on other screens, all associated data for that type of team will be deleted from subsequent screens. However, because the survey system has to recalculate the totals, you must re-save every screen.

Equestrian			Fencing		
Field Hockey			Football		
Golf			Gymnastics		
Ice Hockey			Lacrosse		✓
Rifle			Rodeo		
Rowing			Sailing		
Skiing			Soccer		
Softball		2	Squash		
Swimming			Swimming and Diving (combined)		
Synchronized Swimming	<u>l</u>		Table Tennis		
Team Handball			Tennis		
Track and Field (Indoor)			Track and Field (Outdoor)		
Track and Field and Cross Country (combined)			Volleyball		
Water Polo			Weight Lifting		
Wrestling			Other Varsity Sports (Specify sports in the caveat box.)*		
Caveat (Specify Other Varsit Use the caveat to list the "Ontercollegiate varsity sports The caveat on this screen is If you want information to ap	Other Varsity in your EAD s for internal	A disclosures use and does	not appear on the EADA D	issemination	n Website (public site).

If you save the data on this screen, then return to the screen to make changes, note the following:

1) If you select an additional team remember to include associated data for that sport on subsequent screens;

²⁾ If you delete a sport but have already entered associated data on other screens, all associated data for that sport will be deleted from subsequent screens. However, because the survey system has to recalculate the totals, you must re-save every screen.

Varsity Teams	Men's Teams	Women's Teams
Baseball	34	
Basketball	16	15
Cross Country	12	11
Equestrian		15
Field Hockey		23
Football	98	
Lacrosse		21
Soccer	30	26
Softball		22
Swimming and Diving (combined)		23
Swimming		21
Diving		2
Swimming	21	
Tennis	11	8
Track and Field (Indoor)	43	18
Track and Field (Outdoor)	44	15
Volleyball		13
Wrestling	22	
Total Participants Men's and Women's Teams	331	210
Unduplicated Count of Participants (This is a head count. If an individual participates on more than	279	187

one team, count th	nat individual o	nly once on th	is line.)						
CAVEAT *For each men's onumber of female *If you selected Of *Additionally, prov	students on th ther Sports, sp	at team in this ecify which te	s caveat box. am(s) are inc	This does not a	pecify the numbo	er of male and ms.	i the		
If you save the da screen because the	ne survey syste	m has to reca	liculate the to	n to make chang tals.	jes, please note y	ou must re-sa	ave every		
For each men's te part-time basis, a volunteer basis, b The Swimming ar (combined) fields	nd whether the y entering a 1 i nd Diving (coml	coach was ei	mployed by thiate field. Illow up to 2 h	ne institution on	a full-time basis	or on a part-ti	me or Country		
							E 11 Tr	David Tiles	
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Total Head Coaches
Baseball		1	1						1
Basketball		1		1					1
Cross Country						1		1	1
Football		1	1						1
Soccer		1	1						1
Swimming		1	1						1
Tennis		1		1					1
Track and Field							1		1

1

Track and Field (Outdoor)

Wrestling		1		1					1
Coaching Position Totals	0	7	4	3	0	3	2	1	10
CAVEAT									
Head Coa									
For each women	's team, indicat	e whether the	head coach i	e male or female	t hannisse sew e	o the team or	a full-time		
or part-time basi volunteer basis, I The Swimming a	s, and whether by entering a 1 nd Diving (com	the coach was in the appropr bined) fields a	s employed b riate field.	y the institution	on a full-time bas	sis or on a par	t-time or		
or part-time basi volunteer basis, l	s, and whether by entering a 1 nd Diving (com	the coach was in the appropr bined) fields a	s employed b riate field. allow up to 2	y the institution	on a full-time bas	sis or on a par	t-time or Country	r	
or part-time basi volunteer basis, I The Swimming a	s, and whether by entering a 1 nd Diving (com s allow up to 3. Assigned	the coach was in the appropr bined) fields a	s employed b riate field. allow up to 2	y the institution	on a full-time bas	sis or on a par Id and Cross (Fernale Hea	t-time or Country	Part-Time Institution Employee or Volunteer	Total Head Coaches
or part-time basi volunteer basis, I The Swimming a (combined) field	Assigned to Team on a Full-Time	the coach was in the appropr bined) fields a Male Head Assigned to Team on a Part-Time	s employed briate field. allow up to 2 d Coaches Full-Time Institution	y the institution head coaches. T Part-Time Institution Employee or	on a full-time bas the Track and Fie Assigned to Team on a Full-Time	Female Head Assigned to Team on a Part-Time	t-time or Country ad Coaches Full-Time Institution	Part-Time Institution Employee or	
or part-time basi volunteer basis, I The Swimming a (combined) fields Varsity Teams	Assigned to Team on a Full-Time	the coach was in the appropr bined) fields a Male Head Assigned to Team on a Part-Time	s employed briate field. allow up to 2 d Coaches Full-Time Institution	y the institution head coaches. T Part-Time Institution Employee or	on a full-time bas the Track and Fie Assigned to Team on a Full-Time	Assigned to Team on a Part-Time Basis	country ad Coaches Full-Time Institution Employee	Part-Time Institution Employee or	Coaches

Field Hockey

Lacrosse

Soccer

Softball

Tennis

(Indoor)

Swimming and Diving (combined)

Track and Field

Track and Field (Outdoor)							1		1		1
Volleyball		1		1							1
Coaching Position Totals	0	3	1	2		0	9		6	3	12
CAVEAT					velikelise validitativik						
Head Coad	ches' Salaries	- Men's	and Wo	omen's	Team	ıs					
include benefits of Do not include vo	s and bonuses that you on this screen. Junteer coaches in calc ing the FTE total click o	ulating the av	erage salary	and the Full							
Tor help calculate	ing the tric total choice.	The mondon			Men's	s Teams	Wome	en's Te	ams		
Average Annual II (for coaching dut	nstitutional Salary per H ties only)	lead Coachin	g Position			20,570		19,0	015		
Number of Head	Coaching Positions Use	ed to Calculat	te the Averag	je		10			12		
Number of Volun (Do not include th	iteer Head Coaching Po hese coaches in your sa	sitions alary or FTE ca	alculations.)			0			0		
Average Annual I	nstitutional Salary per F	Full-time equiv	valent (FTE)			71,424		65,	758		
Sum of Full-Time	Equivalent (FTE) Posit	ions Used to (Calculate the	e Average	2.88		3.47				
CAVEAT											
Assistant	Coaches - Me	en's Tear	ns								
or part-time basis	eam, indicate whether t is, and whether the coad by entering a 1 in the ap	ch was emplo	yed by the in	e or female, estitution on	was assi a full-tim	gned to the e basis or c	team o on a part	n a full :-time (-time or		

Male Assistant Coaches

Female Assistant Coaches

Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Total Assistant Coaches
Baseball		3		3					3
Basketball		5		5					5
Cross Country		2		2					2
Football		10		10					10
Soccer		2		2					2
Swimming		2		2					2
Tennis		2		2					2
Track and Field,Indoor		1		1		1		1	2
Track and Field (Outdoor)		1		1		1		1	2
Wrestling		4		4					4
Coaching Position Totals	0	32	0	32	0	2	0	2	34
CAVEAT									

Assistant Coaches - Women's Teams

For each women's team, indicate whether the assistant coach is male or female, was assigned to the team on a full-time or part-time basis, and whether the coach was employed by the institution on a full-time basis or on a part-time or volunteer basis, by entering a 1 in the appropriate field.

	N	Male Assista	ant Coaches	•	Female Assistant Coaches				
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full-Time Basis	to Team on a	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Total Assistant Coaches

Basketball			1		1		1		1	2
Cross Country			1		1					1
Equestrian							1		1	1
Field Hockey							1		1	1
Lacrosse							1		1	1
Soccer			1 [1		2		2	3
Softball							2		2	2
Swimming and Diving (combined)			2		2		1		1	3
Tennis			2		2					2
Track and Field (Indoor)			1		1		1		1	2
Track and Field (Outdoor)			1		1		1		1	2
Volleyball			1		1		1		1	2
Coaching Position Totals	0	1	0	0	10	0	12	0	12	22
CAVEAT										

Assistant Coaches' Salaries - Men's and Women's Teams

Enter only salaries and bonuses that your institution pays assistant coaches as compensation for coaching. Do not include benefits on this screen.

Do not include volunteer coaches in calculating the average salary and the Full-Time Equivalent (FTE) Total. For help calculating the FTE total click on the Instructions link on this screen.

Men's Teams

Women's Teams

Number of Assistant Coaching Position	s Used to Calculate the Average	26	19		
Number of Volunteer Assistant Coachin (Do not include these coaches in your s		8	3		
Average Annual Institutional Salary per I	Full-time equivalent (FTE)	53,599	70,782		
Sum of Full-Time Equivalent (FTE) Posit	ions Used to Calculate the Avera	3.87	2.09		
CAVEAT					
Athletically Related Stu	dent Aid - Men's an	nd Women's Tea	ıms		
Athletically related student aid is any so institution, the terms of which require th institution. Other student aid, of which a student aid. If you do not have any aid t	holarship, grant, or other form of ne recipient to participate in a pro a student-athlete simply happens	financial assistance, offe ogram of intercollegiate at	red by an hletics at the		
	Men's Teams W	omen's Teams	Total		
Amount of Aid	0	0	0		
Ratio (percent)	0	0	100%		
CAVEAT					
Recruiting Expenses - N	Men's and Women's	Teams			
Recruiting expenses are all expenses ar	n institution incurs attributable to	recruiting activities. This			
telephone use, and transportation (inclu for official and unofficial visits, and all o					nd other expenses
		Men's Teams	Women's 1	Гeams	Total
Total		3	5,505	3,907	7,412
CAVEAT					

Operating (Game-Day) Expenses - Men's and Women's Teams by Team

Operating expenses are all expenses an institution incurs attributable to home, away, and neutral-site intercollegiate athletic contests (commonly known as "game-day expenses"), for (A) Lodging, meals, transportation, uniforms, and equipment for coaches, team members, support staff (including, but not limited to team managers and trainers), and others; and (B) Officials.

For a sport with a men's team and a women's team that have a combined budget, click here for special instructions.

Report actual numbers, not budgeted or estimated numbers. Please do not round beyond the next dollar.

		Men's Teams			Women's Teams		
Varsity Teams	Participants	Operating Expenses per Participant	By Team	Participants	Operating Expenses per Participant	By Team	Total Operating Expenses
Basketball	16	2,280	36,473	15	6,509	97,632	134,105
Football	98	611	59,913				59,913
Baseball	34	3,133	106,518				106,518
Cross Country	12	533	6,393	11	567	6,235	12,628
Equestrian				15	2,402	36,037	36,037
Field Hockey				23	1,901	43,725	43,725
Lacrosse				21	3,173	66,633	66,633
Soccer	30	1,058	31,749	26	1,549	40,266	72,015
Softball				22	3,157	69,458	69,458
Swimming and Diving (combined)				23	959	22,065	22,065
Swimming	21	970	20,367				20,367
Tennis	11	1,689	18,577	8	1,621	12,971	31,548
Track and Field (Indoor)	43	573	24,633	18	781	14,059	38,692
Track and Field (Outdoor)	44	625	27,504	15	935	14,022	41,526

Volleyball	13 1,215	15,796
Wrestling 22 1,894 41,669		41,669
Total Operating Expenses Men's and Women's Teams 331 373,796	210	438,899 812,695
CAVEAT		

Note: This screen is for game-day expenses only.

Total Expenses - Men's and Women's Teams

Enter all expenses attributable to intercollegiate athletic activities. This includes appearance guarantees and options, athletically related student aid, contract services, equipment, fundraising activities, operating expenses, promotional activities, recruiting expenses, salaries and benefits, supplies, travel, and any other expenses attributable to intercollegiate athletic activities.

Report actual numbers, not budgeted or estimated numbers. Please do not round beyond the next dollar.

Varsity Teams	Men's Teams	Women's Teams	Total
Basketball	82,828	143,211	226,039
Football	153,719		153,719
Baseball	193,107		193,107
Cross Country	31,629	31,209	62,838
Equestrian		98,658	98,658
Field Hockey		79,051	79,051
Lacrosse		158,013	158,013
Soccer	92,983	82,775	175,758
Softball		131,805	131,805
Swimming and Diving (combined)		53,358	53,358

Swimming	49,861		49,861
Tennis	35,061	29,243	64,304
Track and Field (Indoor)	38,766	28,062	66,828
Track and Field (Outdoor)	41,521	30,963	72,484
Volleyball		45,911	45,911
Wrestling	92,680		92,680
Total Expenses of all Sports, Except Football and Basketball, Combined	575,608	769,048	1,344,656
Total Expenses Men's and Women's Teams	812,155	912,259	1,724,414
Not Allocated by Gender/Sport (Expenses not attributable to a particular sport or sports)			2,681,487
Grand Total Expenses			4,405,901
CAVEAT			

Total Revenues - Men's and Women's Teams

Your total revenues must cover your total expenses.

Enter all revenues attributable to intercollegiate athletic activities. This includes revenues from appearance guarantees and options, an athletic conference, tournament or bowl games, concessions, contributions from alumni and others, institutional support, program advertising and sales, radio and television, royalties, signage and other sponsorships, sport camps, state or other government support, student activity fees, ticket and luxury box sales, and any other revenues attributable to intercollegiate athletic activities.

Report actual numbers, not budgeted or estimated numbers. Please do not round beyond the next dollar.

Varsity Teams	Men's Teams	Women's Teams	Total
Basketball	97,038	209,858	306,896
Football	175,585		175,585
Baseball	270,329		270,329
Cross Country	36,907	36,487	73,394

Equestrian		00.920	00.00
estro i	L	99,830	99,83
Field Hockey		86,803	86,80
Lacrosse			
		199,921	199,92
Soccer	126,847	99,412	226,259
Softball			
		167,709	167,709
Swimming and Diving (combined)		61,015	61,015
Swimming			
Į.	57,518		57,518
Tennis	35,957	30,139	66,096
Track and Field (Indoor)			, -
	45,044	34,340	79,384
Track and Field (Outdoor)	47,799	37,241	85,040
Volleyball			,-
		47,439	47,439
Wrestling	108,910		108,910
Total Revenues of all Sports, Except Football and Basketball, Combined			•
	729,311	900,336	1,629,647
Total Revenues Men's and Women's Teams	1,001,934	1,110,194	2,112,128
Not Allocated by Gender/Sport (Revenues not attributable to a particular			
port of sports)			2,681,737
irand Total for all Teams (includes by team and not allocated by ender/sport)			4,793,865
PAVEAT			

Summary - Men's and Women's Teams

Your Grand Total Revenues must be equal to or greater than your Grand Total Expenses or you will not be able to lock your survey.

	Men's Teams	Women's Teams	Total	
1 Total of Head Coaches' Salaries	205,700	228,180	433,880	
2 Total of Assistant Coaches' Salaries	207,428	147,934	355,362	
3 <u>Total Salaries (Lines 1+2)</u>	413,128	376,114	789,242	
4 Athletically Related Student Aid	0	0	0	
5 Recruiting Expenses	3,505	3,907	7,412	
6 Operating (Game-Day) Expenses	373,796	438,899	812,695	
7 <u>Summary of Subset Expenses (Lines 3+4+5+6)</u>	790,429	818,920	1,609,349	
8 <u>Total Expenses for Teams</u>	812,155	912,259	1,724,414	
 Total Expenses for Teams Minus Subset Expenses (Line Line 7) 	21,726	93,339	115,065	
10 Not Allocated Expenses			2,681,487	
11 Grand Total Expenses (Lines 8+10)			4,405,901	
12 Total Revenues for Teams	1,001,934	1,110,194	2,112,128	
13 Not Allocated Revenues			2,681,737	
14 Grand Total Revenues (Lines 12+13)			4,793,865	
15 <u>Total Revenues for Teams minus Total Expenses for</u> <u>Teams (Line 12-Line 8)</u>	189,779	197,935	387,714	
16 Grand Total Revenues Minus Grand Total Expenses (Line 1	4- Line 11)		37,964	

To return to a data entry screen, click on the link in the Navigation Menu.

To proceed to the Supplemental Information screen, click on the link in the Navigation Menu or click on the "Next" button on this screen.

Supplemental Information (optional)

This screen may be used to help the reader better understand the data you have provided, or to help a prospective student-athlete make an informed choice of an athletics program. This information will be viewable on the EADA public website. Please do not include the names of individuals or write messages to the help desk.

To explain specific data entered on a previous screen, please use the caveat box on that screen.

Bridgewater State University is a public university within the commonwealth of Massachusetts. As such, the athletic program is under stringent guidelines on the management of all revenues and expenses.